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32 12T 'R (C/C++) nnnX niswa

Solaris 08 Solaris 0§ Solaris 0§
C Compiler e Binary e Linker
LINUX LINUX LINUX
C Compiler - Binary _F Linker
Microsoft Microsoft Microsoft
Windows —*  Windows —*  Windows
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(platform independence)

now" [I'VA7 NITIN N"MWOKX IT NADN Java
N1'20 707 17910 JVM a1 "omraan

# =

JVM Solaris JRE
java

& 2

JUM  Linux JRE

Java Compiler javac Java Bytdcode java
(Solaris, Linux, or Windows) (.tlass)
JUM  Windows

java.exe  JRE
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NX77 D2 wnnwn? |n1
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public class HelloWorld ({

.HelloWorld owa n7nn naman
YAl oY np7nn nnn ,n7t 2%wa

DY INIXA

jgpope)nwuwnww'
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public static void main(String[] arguments); {

NTINNN A

System.out.println ("Hello World");
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main NnTinNn

public static void main(String[] arguments) {

System.out.println ("Hello World");
}

Dy nTINN wonn JVM n np7nn 0NN X UKD
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NTINNN DY —malin =

N1 UYNNYUN7 [N — NN NTINNN - public =
NITNIM NIXYAN X77
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W 'R IT DTINNT ATNMN VN 019'0 — void =
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public static void main(String[] arguments) {

System.out.println ("Hello World");

0N NNTAN String[] arguments
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main NnTinNn

public static void main(String[] arguments) {

System.out.println ("Hello World");

NTINN? NN System.out.println
IND D'UNNYN X — (nTINn In't ,method call)

7'onn (qualified name) nTinnn v XMn nnwa
(nT71) I NN

VowNn — (String) NTINNN 019'VUN LINIATIX NNAYN
NTINNN 019'VN XIN NINIINA qIVY
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DUYIN D'RIP7 TVIMY NIDINA VORL [N NINYN

/**
* This is the first class I've ever written
* @author Course Lecturer
*/

public class HelloWorld {

/* This is the entry point of my application.

* as you could see not so interesting...
*/

public static void main(String[] arguments) {
System.out.println("Hello World") ;| // prints "Hello World"

}
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byte, short, int, long :D'n7w D50N =
float, double :N9X NTI71 AIX"]1 DN90N =
char D'IN =

boolean :DAX712 0D =
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nir'o 8 7w nxiap xin ("o'ma" ;0212 ,octet, byte) v

int 0I9'UN NINYNI] YIN'y21 212N ,0IYN 0'0I19'0] |IMY 1197
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int O19'0N MIPN NINWN

public static void main (String[] args) {

int i; '+ -n o
System.out.println("i=" + i) ; NITNNN VWY

8 o
E ;

System.out.println("i=" + 1i);
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7 NNITY) NNWN K78 DRNWN |"'¥n 'R Java -2 '='n n'0 — nnwn uswn INT
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int 1 = 7;
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7NNV 9ANQY NINWNN )IN7 QN0 10N W

i N3 wnoumi = 1 + 2 DNUNd NNAIT?

DTN 2NN 70N — ("N IX) '2'019N'R NIDNYT 0'0aN INT
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int y =

X = 33

y = 73

"' 9ANAY

57
X;

?x NN 'YDY MW DX vy -7 Nj?' Nn
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D'N7v 0'019'V

:D'M7Y D'INWN '019'0 'AI0 NYIX NjPoon Java
20"%wn "1 nifa'o 8 - byte =
2 0"%wnaix"a nira'o 16 - short =
20%uUnax"Tanr'o 32-int =
209N ax"1 NiA'o 64 - long =

‘D'7w 0"M90n ax"7 071 0w 019'VN DINYN
OOX IX D"7'7w ,pMI'n =

AIX' NIA'0N 190N 'S 7V yapa 019'0 7D 7w nion
-128 1Y 127 -n nno0n 759107 710! byte 019'0N NINwN ,7wn?

0I9'0 NNAITY ,TA71 0"7'7W-'X DMI90N AIX"? NNWOX Java -1 |'N
C nova unsigned int
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NOX NTIi71 '019'V

:D'019'uN "'y Java 1 y¥ann n0"wnn 0'1y ANt
Naw7 23 (2 7w) nptn? 8 ,n'07 1 — nira'o 32 — float =
1aw? 52 ,nptn? 11 ,n'07 1 - ni'a'o 64 — double =

7 2IN'"NN NIV D'YNN D900 DN7YW M19N AN
IEEE-754 nwa |7n 7y 001an XiNl,D'M%7Y D'90N

7V NI71V9N MNP NIFY'N NOX NTIRI AN 0DNI90N 7V NI7IYS
D'N7Y D"MO0nN

"N12IN VP'ND" ONIPA ITN7' M"19N AIX'N 7V D'S01 D'V
"Dravwnn NIvRLVHIR" ONIpAl
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D'IN'0I1 O'IN

char :D'IIN AIX"7 '2'0'M"M9 019'V Nnpeoon NIN'A

NI'NIX 07710 0N1L,VORL AIX"7? DNA D'YNNYN 1IXY D'M0N DN DN
TIVI 210'D '11'0 ,NND0 ,(NISWUN 7D W)

char ¢ = '?';
System.out.println("A question mark is " + c);

IN 727 Nnannn 7202 Tvn? 7aipn awnnn (N 0NN DX A7 1D
encoding) TIT' N720 NXA IT 720 ("W 'R) NIT'0 190N
(character
(nrraro 16) Unicode Tz *T* 2y D*axIm DN NIIR'AQ
NnM"pn 2"X -0 NN 2N DX 7207 T2 7'90N N72IMAIT n720 =
(*m mo> nNannw ASCI n naon '1a0%)

TV 1T 'K mn R, 65 90nn T v TTipn ‘A inn 7un =
1488 ~oonn
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D'IN'0I1 O'IN

I'2 1NN Iy "y char o19'un D' NDINA AxX"7 N1
DTV 7wn?) 17w M90nn N [I'Y NIYXANRD IX D"'Y2
:(http://unicode.coeurlumiere.com

char ¢ = 63;

System.out.println("A question mark is " + c);

,70NN 7V IN'0D 21X ON7 'K TWUNX D'1IN NND D07 Y7nim
TN XY ON7 N1 DY

\n" wTn NIV =

A\t Ao =
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D'IN'0I1 O'IN

N7VI91 , 01N D'1INT7 NON"NN NOWN NITNNN IX DN 7V NI71yo2
.ONDN

07 7Y VY NNRIYY? LMD IMIX "WYN NTNNNY 1IN ivaw hun?
VN 7Y INWYN AT N NTNNNT7 ZWwWvny

char ¢ = '?"';
String str = "The letter "+c; // "The character ?"

int i = 63;
String t = "The number "+i; // "The number 63"

XYM NNV Yaza (ly'mim X7) 1v0nd 12 wim'y 7y 0'9011 0'01O
NN
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NN'7120 019'UN

true -1 false :0'2YV W 72777 0'71D' (boolean) D™MIN'712 DINWN

D'OI19'0 7¥W M9 AIX" 7V YT'I D'NIDNND 17 |'N ,char 019'UN 7*T1aN7
(1 1x 0) om%wd DN*78 on"NN%? N1 X721 D"IR712

[Vl boolean z = false;

X

boolean g = 0;

JIXR'712 Y 0 TN L(DMI%0N 1) ARIYA 7w 0MIVI9IN
NNAIT?

(imw) == =

(i X)) 1= =

(MY IRITA ,NNIY IR (VP N ITA N OR) >= <=,> < =

boolean z;
z = 4>3;
System.out.println("z=" + z); // z=true
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(literals) n'viay

N'N' [N NINWN ATR? NYT? T2 ,019'0 N'DINA W 727 novwn Java
T'NYA INIX 0'WUNY

NIIX'A2 NN TIPa NN'Y' 0WY'DINY 0DV DN D'YIAf

,TTI2 VIV'Y IN2 D'IN ,N9X NTIZIA 090N ,0'M%Y 090N 0'771> DN
true, false, null NNMWN 0'%7"MN1,7193 VIV'YY N2 DN NITNNN

NNAIT?

int->2wn13 =
char ->avm ‘3’
String->2awnl “3"
double -> 2awnm 3.0
boolean ->12vnNnl true

Java nowa 1 n1dIn
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(casting) D0'019'0 NN

77NN 019'0N YV D'IoN 0I9'VN NINWNA N7 D'UAY? D'0IN DX MIZ NN

NN N

X77 n'7xn 77O 1A X — (VT TIAR PN X7) NN DONNN DX =
N'Y7'on17 NIRAY

(widening) Nan1n NRY1 019'0 7w ANV NNN =

int 1 = 14;
M long 1 = i;

1019'07 77 X7X ,7V192 0" W7 hon'"nNn X7 nnnn NiN'va

?20"7 4 IM72pw 77 07 8 INpw 7T 19W7 NIV RN (N'A7IX
07 2 7 PR YT 1IN DR w7 N7 0T 0MysY ' 7V QN ,Nniva K7

Java nowa 1 n1dIn
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(explicit casting) nwaiosn nnn

X

?0N102 X7 NONnn DX
Y9N NNN NYATAE NYN7'ONIR NIR'AY IT 770 0T

double d = 3.0;
float £ = d4d;

NINNN DX YXA7 2TNNNN nYRa XN NYAIDN nnn
NYON VTN TIA'X? N1DNAN 7¥ NiMNX nn'ye7 N, 'nida”

(narrowing) Naxn NN ITD NNN

'197 02102 UTNN 0I19'0N [I'Y 'V NYXANN NYAII9N NN
'MNY7 D'YRAN INIKY VN
double d = 3.0;

[/] float £ = (float)d;

Java nowa 1 n1dIn
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D'VIAP 7Y NYII9N Nnn

?ANaN NIWANTOoA X7 Nn
float £ = 3.0;

N'NDN NN — double D YTnnn "y whonn 3.0 7100

IN) f NIXDN NO0IN — XI7N NNN 1'anNn DY 071017 1Y
90nn nX7 ™n (F
M float £

(float) 3.0
2 pw

[/l float £ = 3.0F

7122102 0'VD — 0'S0I11 0'0I9'V V1Y D"y NAIT ' ANN
Ol YNXAY NIRNAITALI

Java nowa 1 n1dIn
2'aN 7N NL'oNANIN
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(identifiers ,0'nt) NNy

N NR7nn (120 ,N0N 7¢ INYW70 2017 [N DY RIN NNt
nINwnN

__=1'$ nanron NRIENND0 NIMIX 729071, InWD IR Nifn 71D NN
(V191 X7W D'D011 D'IN'O |DI)

N1902 7'NNN7 712 1I'R NN

NINNXN NISYN AN7 NnIT X ,scheme 1 o'nm a7 0'7%nn nivwa
DU'NIYNAYN NINYA UNNYUN? Ymin

(001N MNXA) NINY 'A10 237 NINDoIN NNy

NIXNAIT
int examGrade = 92;

double PI = 3.1415927;

float salary = income * (1 - incomeTaxRate);

Java nowa 1 n1dIn
2'aN 7N NL'oNANIN
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(keywords) nux'aa nnon nimn

NIX'A2 NNO5N NI7M [0 N1aona 0'7'n

vin'm nnon
NI'1DN] NINYWD [N WNNYN? 'K NNy 0'7'1 |
I'NI NNINY_|N DA 72X N9 NI7?M [I'X true, false, null 07N ,q0N2
(literals ,0'viap N7X) D'NTND [N WNNWNY
abstract continue for new switch
assert default package synchronized
boolean do if private this
break double implements protected throw
byte else import public throws
case enum instanceof return transient
catch extends int short try
char final interface static void
! class finally long strictfp volatile
[ const ) float native super while




27'0177 N1an

NI'0'0d NIT'N'? 0'7N1N ,0'IN 7¥W NOT'O X' N'1dN
'ID1 D'NTN ,0M190n |12 (tokens) n1IN'oX NIXYZIN

NI0P NIX ['2 NINAX NYIY 1NI7D case sensitive X' NIN'a
N71TA NINY?

Grades NNTMNN MIY grades NNTAN XNAIT? =

N1IY QXL 'IN'0 ,0'NIN) "DNA7 D'NIN"N NNYnn Nnx'a
D'VVIXNA D'IN N D'WY'OMY N7X7 V19 (‘1D NYTN
D707 nirtnnnl

"a string" n n1w "astring” :7wn% =

Java nowa 1 n1dIn
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D"I0'AlI D'UOYN

n'71Y9 yx¥an (statement) vown

NXMP ,NN717 VOWUN ,'RIN VOYN ,NNYN VOYN [IAD =
(void) 7 N'TRN N1'RY N'X197

IDIY NX AWN7 [N1Y 2NN N1aN KIN (expression) 102

N'TNNN N'¥21197 ARMP (KN Q7wa) 2M0I9IN N7VON (1D =
nnwn v5vn Y

D'VOYN 7Y NOTO [N (NITINN) Java-1 NIYjIo
(expression) 010 7y n71Y9 yxan vowN

NX QAYUN7 [N IYUN D'UOYN DIY' - IR NI'R NTI9NN
(DIT'PN DIVIBIN IX ,NNYN VOWYN [12D) DD

Java nowa 1 n1dIn
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710'9 'IN'0

.0'210 YN N0IN'OXD 0N DA D'V'OSIN ?10'S 'IN'0

D'T5N =
() {YI[L1<>:,; ,.4a
:D"IVOIN =
+ - * / % & | N << >> L
+= -= *= [= %= &= |= = <<= >>= <<=
= == I= < <= > >=
! ~ §&& || ++ -- ?

D71D NN X7 72X ,0MI019IRN NIYNAYN NX JYNN2 AR

Java nowa 1 n1dIn 37
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DMO0DINXI OO

'NQN [9IX2 DYTAM (D'NX IN DT'ONNMIX) D10
127V NX a¥"'NY 1012 KIN - (literal) viap =
NINWNT7 Ya1D W'Y VD 1DIYY 10 KID NINWN ®
M0 K'N DM'RNN (DM0R2IXR) 1072 7V VI0T9IX 7Y N7YON =

INfix 2'N>2 0'anda (0710 X7) DMI0I9IRN AN
X+1 nD =

D'OI9'VUN NN LI7Y D'VINIANN 190N NN VAL MVIOIXR 7D
ATNINN YN 7Y 019'0N NNI ,DN7Y

IN |''7) DIA'OKR'XION |21 ,NIN'T? 1 TO MVIDIN 707
NI71IY9N 1TO 7V LI7YT? DIYWONN D10 ;(7NNYT

Java nowa 1 n1dIn
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NIN'TPN QTO '97 0112 DIVIDIN
(n'7n n%720) DN

s/ * (noX NTI77 DA) NIRY 17N 79D

- + q10'N L, (1N ,09017 DA ,NITANA MWW 1A'N
>>> >> <L 171 'TONNMIX NIM' ,N7RNY N0 W DTN
<= >= < > NHY IX |07 ,NIY IR 7172 ,0 |V N 71T
1= == 'Y R [

& (nrraro NI oMY IX 0MR'712 0DW7) AND

A (7"10) XOR

| (7"11) OR

. DX WD T9IRNN D7ynn) Short-circuit AND
(NXRXINN DX VAR [IWURIN

| (2"15) Short-circuit OR

Java nowa 1 n1dIn
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http://images.google.com/imgres?imgurl=http://www.hobbiesplus.com.au/signspotters/givewaywhtborder0189.JPG&imgrefurl=http://www.hobbiesplus.com.au/signspotters/regulatory.htm&h=631&w=626&sz=59&hl=iw&sig2=LSqfk9J51udYcRbDUWjBTw&start=2&tbnid=R4oFE7Ljz1s8IM:&tbnh=137&tbnw=136&ei=6kUgRYTvAsm0wgHQtcHCCQ&prev=/images%3Fq%3Dgive%2Bway%2Bsign%26svnum%3D10%26hl%3Diw%26lr%3D%26rls%3DGGLJ,GGLJ:2006-33,GGLJ:en

D'"]'2 D"MVDINX

D'"M2102 YIN'Y2a NIXN NX DNXNX7 TV N+ T 0 YT10

int result = 4 * argument + 5;
7 v
int result = ((4 * argument) + 5);

boolean islLegalGrade = grade >= 0 && grade <= 100;

7 pw
boolean isLegalGrade = ((grade >= 0) && (grade <= 100));

V191 DYINY VN KN NNWAN YI0IOIN 7Y ATNINN N
NINYN WWIYT7 NAY D

int i

I
u
I
-
I
N

7 pw
int 1

I
—~
(]

I
—~

w
I
o
N
N
N
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NINYN 7 DY "'y

VAW NX11 OX NYYI NN .NINYNA 7Y (WU 1DV DX NONIT Nnnwin
?'NdNN WA N N wTNn

NNAIT?
int x = ..
? 5-2 X NX 7121 N
ATV MNYWNY win'y "'y - 'R NNYUOK
int temp = x;
X = temp + 5;

‘NYY X-2 wm'v "y - "2 nNUONX
X =x + 5;

WIYN DTIR 78NY7 "' DIYXANN DINYAY (1IN 2711y N7 yiTn
NNWN N2V KN J"NK 1M 9aRAY 10N

N7WUN M'ANN 1210 N7 KXNINY TV NNDW DD XD IT N71V9

Java nowa 1 n1dIn
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N71V9 0OV NN

NOTN NXRYINN 7Y NNYNI 01 0NI0IDIN 112V QXN [IN'0 NONIN nIX'A
[TYRIN TINOIRN ']I]']'?

X =y,
-7 Ny
X=X +y;

75 YNNWN7 [N 02120 DNIVIDIRND 722 by
*= /: = 4= == <K= ODO= DO>I= &= = | =

7'A30 NNYNN NI0I9IX DY TN' , NN TP 1T02 DNNX 0'Y'9IM 1770 0I'wn
TX "2 N71V9N NYXANN 0 NX ,AvIinn (Y) 10N Y e T 0TIy o L (5)
NNWNN D INKRIAIYNN DIRXIN 1Al (X) 78w

(Ymim X7 72X MyON) N2NN NNWN AWORNN 1T 'M'7 NTATOKRYION NNYNN

X =y = <exp>

Java nowa 1 n1dIn
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u (prefix) niTy7

227 TNIM QI0T9IX R¥NINY TV 0'NDW 3" 1 7w nTIInl n9oIn

x +=1
-7 pw
++x
'NNAIT?

int x = 5;
++x;
System.out.println(x); // © 0971" nn

'NNAITA NRNNND DNIYN 'MW NIX QA7 DX 09TI' Nn
int x = 5;

System.out.println(++x); // © D97T1* NN

X 7¥ UTNN VN KIN N7190 7w tNimn wn

Java nowa 1 n1dIn
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(postfix) o117

x++ Q011 DIT'? NIVISIX 0"y Java 2

7Y ATNIMN VAW RIN ++x 121 1212 7Tann
X 7Y NInn VN XN N71v9n

int x = 5;
System.out.println (x++); // 3 voT1* nn
System.out.println(x); // © voaTi* mn

——X =l X=—— D"MM0OIXN DN NNITA

D'10'2D NNNO9NNI DIT'PN NIVI9IN] YNNWNT7 K7W Y'min
(Nnxy 1191 n71V9) D'VOYND 1 K7N

‘m Java nowa 1 n1dIn
2'aN 7N NL'oNANIN
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D'"]IX D"IODINR

x++ x-- 1 -2 ImIx Tm/oTmi X DR TN

++x  --X | YTNN WA DX TN TRET -2 Tan/nTm

- ()n'o N>'ON) *Ta1 190N

~ n7v 190N 7w Nniraron 7D noon

! N1 Y 7w noon

D'"IN17 D'MNTIZ? D'MIIXN O"IOOIXRN
NNWNI D'™MIIX ,78NW7 DMA'OXXION D'MINI'Y DMIVIDIN

||n|'7
i=(j=(k=0)) “fwi=35=k=0 MPHHn=
((Li + 3) + k) 7npw i+ j+k AN =

Java nowa 1 n1dIn
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NNX7NN NN'YAN ,0NI019INX

http://introcs.cs.princeton.edu/java/llprecedence/

Java nowa 1 n1dIn
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D" TIO' DI'RY D'INWN
(non primitive variables)

DI'X Java 2 0'0I19'0N XY 7D ,ND TV MpPOow 0'oIv'uNn 8-7 V1S
D'2'V'N"MO

1axi (1) oro1o'o 3000 -n "nir n7'on Java 7w napnn nmM1son
D'YUTN 0'0I19'V 1IN X1 DN WNNWI 0'NI1DNND

DN7? PP TNY IXY (11O 071X ,0"TIO' D'0I9'V DI'X NITNNNI D'DYN
N'19N '019'0] NOXPA |IT) DANPN DNIY'YA 12D

(reference type) n™mosn X171 *TI0' 11'RY 0I19'UN NINWN
0219 L[IINN LYY ,NION"NN (1A D'™7IPY 011D WNNWI D'NYVT7 =

2 D7IN ,001WN 0'NINN 2 7T1an W (C++ 7un’%?) nNNR Niswa =
'"TIO' 12'NY NINWNY7 D'oN''Nn 071> Java

Java nowa 1 n1dIn
2'aX 7N NV'0NA1IIX
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D' TIO' D INYNI NIMION

DI7N DX 1IX "TIO' 019'UN NINYN N'Y]
D'I0N OI9'LN YV 7Dn7 712'w VIT 7TIAA [IND'T]

(1972 OIN DX IX A'MI9N NINYN NM'XA

NXN) DY |IN2T2 ONKX DIpPn 7 NaInd 707 710'w
i INY7D DIN
inti1=5; 100,000 5

str

== String str = “Hello” 100,004 | 200,000 \\

200,000
48
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D'AXVI NIMON

NI[71 Y'a¥n XN 1'70Y DINA 17197 K7 str NINYNN
(object) oyy

1AW [IN2'TN NITRA DAY D'MYY DNXA QY (N7 TN
(N [N2'7) Heap napn Xinl 0'ign 0RNwn 0Ny

?yYyn nn?

NINWN 7¥ [DINN NX NIXKY? N1DNN? nwan X7 Java v |linn =
(C nown Nmiwa) n'1on 019'uN

?13Y NnY

D'OI9'0 N'AXI'M QY |ND'TN N1AN X DO'VTI N7 IRV [11'oN =
D'"TIO' D1I'RY

Java nowa 1 n1dIn
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NIMon 72V Ni71vo

NINYNI WUTN 7Y NNY NM190 NINWN? nnwn
lvaxinn oxv? 2wp X77 nmonn

String s1 = “Hello™;
String s2 = “World”;

s1= s2:
; 200,000

sl /

100,004 300,000 <

100,008 [ 300,000 300,000
Java nowa 1 n1N 50
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null v

Sstr
100,004 | @#@0&%$%

String str; isInitialized
==) str = null; 100,008 true
b

==) boolean islnitialized = (str == null);

Java nowa 1 n1dIn
2'aN 7N NL'oNANIN

NN 1ND LI7INNKR X77 0190 NINWN X7 N1
N'NY N1 X71,727 AT DY 20NN NINWN

I'78 NWA?

X7) null VN DX N'M9N NINYN7 D'YUNT7 NN
21TA7 T qwnn 'YX NWAT7 A N )0 L.(Tam

7NNIN DX
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Nnirnnnn YIvv

XIN ,NTNNN XN '+ NI09IR 7W D' TIN9IRN TAX YWD
NTNNN X' NTNNNT? D'TIN9INN IXNY 7D NX DAONN
NITNNNN 72 VY XY nwTN

String s1 = "hello "; sl N
String s2 = "worl"; 100,004 200,000 ] w
200,000

String helloWorld = s1 + s2; 32
char ch ='d'; 100,008] 300,000 " w
helloWorld = helloWorld + ch; helloWorld 300,000
100,012| 800,000
2T oiaxa HP 1oonn ch 400,000
(d 1Pchexiimicode n 190n) 100,016 rqe

“hello world”

500,000 52



YININN DNV7 N9

D'WA )'N .NMI9NN 7V I'N 1YXAY NI7IYVON 70 1'wdy TV
?y2¥INn DXY7

yaXINn OXY7 N wWoNn (NT7aN) L Io1oIx

?07T 0Y D'UIY NN
NIYPA YUpd7 ©WUON =
(niuwn 72771 NITRY 2INW7 YWON =
NIN'Y' 0'"N1I9 01"ONNT7 NYWAT TWOX NIZINT O'N'YY7 =

DXYV7 OXYN D'INYN 0''N'I90 0ONNANT NITRYN NIYRAN
WA "WORY NIV W |V 190N W' D OX) 1019'V '97
(Java 2 nxy 7on

Java nowa 1 n1dIn
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NNAI'T

NOT'A X7 1201 WPl D"NNILIDIIRT NTINNN DXV 7Y NRAN KNI
NIRXINN NX 0'9T) DI'0? .Y 7w Uppercase

main Str
public class StringExample { . .
length () . _
public static void main(String[] args) { : i
String str = ""SupercaliFrajalistic"’; 20
int len = str.length(); toUpperCase ()

String upper = str.toUpperCase(); - i w
System. out.println(''String length is " + len)? 200,000 200088

System.out.println("String in UPPERCASE is '" + upper + "'| );

1

1
Java nowa 1 nnin | - 54
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ALDIINA

OI9'0 ININN D'INYN NNTOA YIX N7 W' D'NYY
(arrays) 0'2>yn 'y X'n NRT UNN7 2N N0IYON NIXD
Scheme nowa Vector nian? n17ax

DI7N7 TV D'™MIYKRIN 0190100 70 DX 7'2'w wn 7wunY
:D'I0N

2 3 < 7 11 13 17 19 23 29

IX '"2'0'1"5 OX |'2,A10 INIXN DINYN QOIX On 0O'>InN
nion"nn

7V nx1 Java) |IND'7T2 q¥12 770 0T D1AYIF YN DR
NIN7 NIYY DR N'NAT0 nwhaw D (INf%X1v mapn
N7y

Java nowa 1 n1dIn
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ALDIINA

Java 7v 0" T110'n 0"0I19'VNN 7N DI'X D'JYN DA
N'"19N 019'UN XIN VN NINWN D i

YUNNWI VN 019'0N RIN NMINYUNY |M'X7 *1D
("n"yann") o'wwannn 0ol

int [] arrayOfInts

= {1,2,3};

String [] arrayOfString = {"one", "two"};

100,014

100,018

arrayOfInts

350,000

350,000 —

arrayOfString

S

400,000 —

300,000



ALDIINA

7¥ VNl '2'0'™MNId 019'0 7Y 0'DYN A 71an7 27 0'w
N'"19N 0I19'V
D"A'VM"MIO5N O'DOYN ,0M"A'0MMO NO'0ID'0 7v 0DIYN] =
(N212 17 NXPINY DI7N]) INXY YN DAYI

[N VN2 D'R¥YNIN DD L,NMON 019'0 7w D'DIYN] =
IN2T2 TNX DIZNA D'X¥NIN D'XYY NIMoN

D'A10] YIN'Y NITYA VN 7Y Z2INNX 12'R) DTIPN QpPwa
N7INNXI 01900 N'Y' 2 TI9N7 NX11 OX .0'70710N
new 1VISIN] YNNWNT7 W' (ynn DXy Ny

YNNI (N2'ND IX NIXMZ) 1VN2 D'I0N 12'R7 NWAT7 *TD
D'V2INNN D100 11019IN

Java nowa 1 n1dIn
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I'MA'N7 NY'AL VN 019'0UN DXV NN

int [] arrayOfInts; thirdElement
arrayOfInts = new int[3]; 100,004 0

arrayOfInts[0] =
arrayOfInts[l] =
int thirdElement

arrayOfInts

100,000| CBERA@ED%"
arrayOfInts[2];

1;
2;

:DOI9'V '97 N'UNIVIX D'7NNIKN new "V NXPINY YN NAX
0-7 0'7NNIXN D'M7wn 0D"'V'NNMI5N D'0ID'VUN =
0.0 -7 0"?nNINN D"wnNN 0"'V'MNI95N D'0ID'VUN =
false -7 D'7’NNIXN boolean 'V'NM5N D'OID'VN =
|

17¢ Unicode N WY INT 7NNIXN char '"2'0'M"M19n D'OI9'0N
0 NIn

null -7 7NNIXN N"™M9N 0I9'V =

Java nowa 1 n1dIN 58
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IDNINT7 YN 7IKY7 N1

NYA7 [N YK M9 |"OXN XIN ,)VN 7Y IDIIX
NTIPIN MIVIOIX NTYI NN'Y! 'R

int [] arrayOfInts = {1,2,3};

System.out.println("The size of my array is " +
arrayOflInts.length) ;

775N INNXRA 12NN DX 0'9 T N 71N

Java nowa 1 n1dIn
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(==) NNIYNN MMVIDINI NINON

NNWN 7V 7091 KRIN AWKRD (=) ARIYNN 1I09IX
(N2 NI'S{mMn NIAMOIN) NISNN DX DY ,N90
.(Scheme nowa eq?) D'waxinn D'MXYN DX X7

arrl /\1/\
int [] arrl = {1,2,3}; 100,014 350’000 . T
int [] arr2 = {1,2,3}; B
. arr2 3
int [] arr3 = arrl; 350,
boolean bl = (arrl == arr2); 100,018 400,000 <
boolean b2 = (arr2 == arr3); arr3 1
m=) boolean b3 = (arrl == arr3); 100,022 350,000 7 ]
E}
bl b2 b3 400,00
100,026 false 100,027 false 100,028 true

Java nowa 1 n1dIN 60
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(sharing, aliasing) qin'w

OQNIYN XIN OXVN ,0XV INIX? NIY'AXA NI9N 'NY 0N
N'"19n0 707 791 gy 'K . N'NYL

VAXINN QNIYNN OXYN NN DRY7 271D NISnnn NNX 7D

N'17N M7 NNIX o
10

arrl

. |
t 1 ={1,2,3}; —

:.Ln L] ars { } 100,014| 350,000 - 3

int [] arr2 = arrl;

arr2[0] = 10; 350,

System.out.println(arrl[0]) ; arr?

// ? v9T1T A 100,018 | 350,000 7/

Java nowa 1 n1dIn 61
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NITNNNAI D'YN 7Y AXPLINON

,N9YI D"'YIN'YI D'NDY TINA D'0I9'0 DN D'V NITNNNY [11'DN
NOWI NN 0I9'V N7 'K NN MY "qTym on'" 172y 0N

new-n 1o =
new 1I09IN] YII9N WIN'Y X77 DXy 1x¥"7 Java a [N XY
22N

N1 ,("hello") NIX>INN |N'0d WIN'Y "V NTINNN DXV 1IX'7 N1
({1,2,3})0"70710n2 win'y "y yn DXy X'

DMIOVADINXI NIMION =

NXRIYN (=" 210719IX) NNWN 71 Y¥27 TWOKX N9 019'0N NINWN 7V
(".' Mo19IN) DXVT7 nwa IR ('=="11019IX)

gt
DA y¥27 M nrtnnn 7y ([ ]) 22'x%? nwa yxa? Da mavn
(+) Nwnw
Java nowa 1 n1dIN 62
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..M 7w TNX ya1 *72 001 K7?”

(D7 X797) AN

mgg; | B

4

03, | ?;
char msg[1=1 78, 111,113, 32.72,103, 114,109, 110,1 ’

63



